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Madeerm 7 hours o
@ Homework ¥R
O The Armmangement of given circular puzzle starting from E in Clockwise directionis== EGCHDBF A
Cemre Facing -AEGH
Ouiside Facing -CD B F _

Fead more

gy 4P REPLY

T

Mohit.. 7 hiours g 1 subscribers

Thank-you Sir for this Amazing and Tremendous Class Session.. .« =

Sned
My Answer For today's Homework is-
Option 3 == fourth 1o left__

Read more

oLy SR REPLY =

GO RASHMI SOMIED 7 hours ago 21 subscribers
Home AMNSWER, DEFAEGCH

« DBFC,, OUTSIDE,, AEGH,, INSIDE
W FRUITRUL SESSION

ot &P REPLY =

Miharika Jha 6 hours ago
Tank you for the session sir 4.

Homewwaork answer: Fourth to the lefi_.
IN- EAGH OUT B,.CDF

gty &P REPLY =

Swurbhi Sinha Z howurs ago

EAGH,. FACE OUTSIDE,,, BCDF FACES INSIDE THAKME U SIR
ot &P REPLY =




ﬁ Muskan Rai 7 hours ago
thank u sir

ot oA REPLY [

Mitika Gupta 5 hours

—
y

Homework
Fourth vo the left
Inside EAH G
Ounside CDEF

Fead more

" oA REPLY =
Riyva Mandaokar 7 hours agc
H i= fourth to the left of A

ot oA REPLY [

Os=rs

Kajal Simghal 7 hours

Home work ans facing outside BDCF
Facing centre HGEA
bdhcgeaf

T
| |

oD LH REPLY

Bharti Prajapati & hours &
Option 3 forth 1o the left

ot oA REPLY [
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Eight friends A, B, C, D, E, F, G and H are sitting in a CIEREE) A,B,C,D,E F, G I H Uch J TS

circle, but not necessarily in the same order. Four of them %) RIECECIEECE R gg'-}a;qm 30 9 9 §TeT

are facing outside and four of them are facing the centre. ; N N 0 ;
| . I TR 9@ § 3TN 3TH § IR hg I 3R 3@ 1

F sits second to right of E, who faces the centre. There are N a N NN A

F G T W S3T 8 E o &, ST o5 2l 3R W

direction. C 1s not an immediate neighbor of A. A sits %l E 3T D % off= ?‘ﬂ?ﬁﬁé%%l A 3R B Wﬂ@
o .
second to the right of B. F is an immediate neighbor of B, fereia e <ht 3:h_{% | C, AT THhIdH t{?ﬁ?ﬁ:lﬁ

three friends sit between E and D. A and B face opposite

who faces outside the centre. B and E face opposite 2. A, B D) dc\{*l\{ LA G ST 2. F, B ohl
direction .Immediate neighbour of C face the same ehean yeiHt 2. [STaehT 4@ e & et A '
b ) *

direction .H is an immediate neighbor of D. A sits second B 33ﬁ'{ E %Wﬁ?‘fﬁ?ﬂ%pf P:Zﬁ'{E % | C % ﬁ
to the right of G. Immediate left neighbour of G face the N

TSI o1 H& 99 a3 hl 3T | H, D 1
opposite direction. ' > ~ |\ S
What is H’s position with respect to A? ﬁm—q q@_{:ﬁ % AG a; Gl ﬁ QQ\HJ\ T YU &3]

I.Second to the right 2. G o ohedH TR TSI sl 7 T fami shl

2.Sixth to the right 3.Fourth to the left 3:h_{ %
4.Third to the left 5. Third to the right )




[
" Eight friends A, B, C, D, E, F, G and H are sitting in a
circle, but not necessarily in the same order. Four of them

are facing outside and four of them are facing the centre.

F sits second to right of E_wha faces the centre. There are

three friends sit between E and D. A and B face opposite

direction. C 1s not an immediate neighbor of A. A sits

\__—N\

second to the right of B. F is an immediate neighbor of B,

who faces outside the centre. B and E face opposite

e

~

direction .Immediate neighbour of C face the same
direction .H is an immediate neighbor of D. A sits second

L -
opposite direction. ( A G ><
C¥n

to the right of G. Immediate left neighbour of G face the
What is H’s position with respect to A?
1.Second to the right

2.Sixth to the right 3.Fourth to the left
4.Third to the left 5. Third to the right
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Statements: J > U >

Conclusions: 1. U>D

X

\r
K<E<D
)

—

II. N>D
v
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Statements: P<L<A>N=K>§,C>A
— T|__<C

Conclusions: . C>P 1. S<C
onclusions » C
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C 2

-
Statements: P<L<A>N=K>S§,C>A

L.<<

Conclusions: . K> II.L<K
K %
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67{7L _

Statements: I <J<K<L>M>N, B>K, B=S

=<5

Conclusions: [.S>1 II. S>N
e 7(
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g D

Statements/ ®YA: T = UU>Y Y<G G>1L, L>N
G =

Conclusions/ fshY: Elﬂ
(I)GSN Dol
@2)N=T X T
3)T>L 7</
(4) G>N ,

5YU>G N
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Statements/WzDSC,D>A,ASJ,J=S,SSF

Conclusions/ THsehY: r
1)C2F c 2

(1) X g

2)F=C X

3)D>J X

@WI-F r/
(5) None 1s true./ EE



F
. — =
Statements/ ®: T = U, U > Y,Y S G,G>L
. |

Conclusions/ ARy

UG
(HUSG 5 Co;
2) 8>«

(5) Either 1 or 2 1s tru%ﬂT?ﬁ | AT2 I &

R
,L>N



_ Q. In a Certain code LOYALTY is written as MPZBMUZ ,than find the
code for PROCLAIM ?
Q.U FAfYa RIT H LOYALTY T i€ MPZBMUZ fet@ar T g av
PROCLAIM T hi€ &1 T ?

1. QSPDDBJN Lo VYALT
2. QSPDBMJN ®ﬂ 22§ MU @

3.( QSPDMBJN

4. QPSDMBIN- P octm Ll
S. None of these @ M
Q SpD




F
Q. In a Certain code TOAST is written as 03210 , RIGID is written as
45759 than find the code for DOOR ?
Q.U FATYa T H TOAST ST I 03210 @ =T 2, RIGID T 1S
45759 ToTaT =T A DOOR <hT RIS SRIT BT 2

|
TGLD D OOK

1. 9331 0AST |/K

29334 532 |© €§575ﬁ C755blj
3. 3390
4. 1314 /

5. None of these
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Q. In a Certain code SELDOM is written as NPEMFT, than find
the code for SACRIFICE ?
Q.U fAfya g # SELDOM T shi€ NPEMFT foTat mar g av

SACRIFICE T <RI sRIT BT 2 .
M o ACRIFZS

1. FDJGJDSBT S %@ %

. E (an g

2. FDJGISDBT <« VLT “D56I S

3. FDISIGTBD. |

4. FEDIGDSBT

5

. None of these
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Q. In a Certain code DONKEY is written as ZEKNOE , than
find the code for RéINBOW 2
Q.U fATya i W DONKEY T
RAINBOW <hT kI RIT BT 2

1. WOBNAIR @s M€ | w@O 2
DQLVI<E/f\‘>/{PrIIV 7O W

2. WOBNAIR - ny

3.CMJB@ ng WO E W
4. WOBNIAR
5. None of these \




_ Q. In a Certain code TIRED is written as 56, BRAIN is written
as 44 than find theggoqc}geyfgr LAZY?
Q.us fAf2ra g ¥ TIRED T ki€ 56 foTam maT &, BRAIN &1
HIE 44 ToT@T TAT 3 AT LAZY <RT RIS RIT ITT 2

212/({5
RCY

B
61

S8
43

None of these

SO
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Q. In a Certain code SUN is written as 26, WIN is written as 18

than find the code for TIE ?
Q.U FfSra R § SUN T i 26 Tr@T Tar g, WIN ST i€ 18

for@aT =T T AT TIE 6T i€ &1 8T 2
1. 25 SO N 5
2.(24) SRS _
T L F€
. SE

5. None of these



h
Q. In a Certain code PERSON is written as 957561

, than find the code for SACHIN ?
Q.U fAf2ra e # PERSON T i 957561 fer@r mam &

SACHIN T hI€ =T BRTT 2

s 13 17 S
1. 321598 p?‘R%O‘V<~
2.(311598) g'o 12
3. 311986 ——/’lq/
4. 311985 |

5. None of these \b



_ Q. In a Certain code WATSON is written as 112843, JOHN is
written as 1483 than find the code for POINTING ?
Q.u= fAfira g W WATSON =T i 112843 feram = ® , JOHN
T 1S 1483 foTam T2 & O POINTING T <RI SRIT BITT 2

Jo |19 (s v N f

1. 44932937 wpTts ol (_“_' ¢ 3

2. 54932936 ,,z%w"uaﬁ}z 7
| > —

3. 53942937

4.@4,93@

5. None of these




j In a certain code language,
=

“focus on economic development” 1s written as “vl nosu”

pJ

“oreater growth more development” 1s written as “wr ea vl om’
“more focus 1s important’” 1s written as “su ta nx ea”
“economic growth 1s important” 1s written as “ta@) om nx”’

N O

What is the code for 'economic’/ =h TefU he 1 8

1.Py
2.Nx
3.Ta

4.su
5.n



| In a certain code language,
=

“focus on economic development™ is written as “vl no py su”

“oreater growth more development” is written as “wr ea vl om”

“more focus 1s important” 1s written as “su ta nx ea’

“€conomidgrowth is important” is written as “ta fxy om nx”

(T N

pJ

m

What is the code for "growth is important"? / &

Gom ta nﬁ /

2 .Wr ta nx

3.ea nx py
4.om ta py

5.Cannot be determin

T

T B2



j In a certain code language,
=

“focus on economic development™ 1s written as “vl no py su”

“greater growth more development” is written as Fwp /ea’/(f QM
“more focus 1s important’” 1s written as “su ta nx ea”

“economic growth 1s important” 1s written as “ta py om nx”’

m

What is the code for ‘@aster??/ o 1 U hd 1 27

l.ea
PAY

3.0m

4,tm /

5. WXl



Statement:

Some vowels are words.

Only a few words are sentences.
Conclusion:

[. Some words are not sentences.

II. Some vowels are sentences.

hY-:

S T I3 3

hId S Ieg AT T
freeps:

[ %S e a9 T o
1. %S I g




Statement:

Some vowels are words.

Only a few words are sentences.
Conclusion:

I. Some words are not sentences. /

1. Some vowels are sentences. )<
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Statement: hd:
All numbers are natural. aut FI'@IT@ 9 |°C|'>|(;'|°h %l

Only a few numbers are prime. HIA Fed H‘@I{TQ' AT =
O

Conclusion: fsny-

I. No prime 1s number. T Eﬁé TSI FoC T8 2

II. Some prime are natural. ~ A
[I. %S THST TTHIF .




h
Statement:

All numbers are natural.

Only a few numbers are prime.

Conclusion: "é
I. No prime is number.

II. Some prime are natural. 4



|

-l
Statement: : L

EAn]

Only a few cups are buckets. had $S U o AR
No bucket is a jug. Oh\lig ST ST 8 2
Conclusion: IELE2E
I. Some cups are not bucket. A o= S

p | [. 8 &9 e T2 8l
II. Some cups are not jug. I & 9 ST %l

) O



|

Statement:

Only a few cups are buckets.

No bucket is a jug.

Conclusion:

I. Some cups are not bucket. v
II. Some cups are not jug. /



~ Statements-

All 11 are 12.
All 12 are 13.
All 13 are 14.
Conclusions-

I. Some 14 are 12.
II. Some 14 being 13 1s a

possibility.

-”-I
A [ ]

11,1232
12,138
13,147
-

FS 14, 127
FS 14 13 T I GWTEHT 2




. Statements-

All 11 are 12.
All 12 are 13.
All 13 are 14.
Conclusions-

possibility.

I. Some 14 are 12.

e

II. Some 14 being 13 1s a

@\L 3 Y



|
How many such pairs of letters are there in the word ‘PAGINATE’, each of
which has as many letters between them in the word (both forward and backward

direction) as they have between them in the English Alphabet?
7153 'PAGINATE' # &R o UH fohaw 7w &, 1 & Tk o ofi<r 9758 | (31T 3R
e ST faoTredt #) Sav 2 3ter § R 3ok dfier s JuiHTeT § 32

2. Two Q

3. Three cu

4. Four [D ﬁ G\ N [‘7 1 =
5. More than four (6 | 7 U M \ e 5

N
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Three generations of people live together.
There are 12 members in the family viz. M,
N,O,P,Q,R,S, T, U, V, W and X who
went out for a picnic. R and Q are kids of T
and S. V, who is the father in law of W, is
the paternal uncle of R. T has a son and a
daughter. P is the husband of O. O is the
daughter of Q. M is the brother of N. R is
married to U. Father of N is U who has only
one daughter. S is the father in law of U. W
is the wife of X.

Four of the five are alike in a certain way
and hence form a group. Which one the
following doesn’t belong to the group?

Q P O M \

RN <t i et e any Bl g uiEar |
129 & 3l M, N, O, P, Q, R, S, T, U,
V, W 3R X STt fuerfaes o feru srge o 9 R
R Q, T 3 S o &= €1 V, ST W T AT
R T ITET 81 T T Ueh ST 3K ek AT B P,
O T Ufd 21 0, Q T Tt Bl M, N =T W8 21 R
T foamg U & g1 21 N &7 fuar U 2, foaeht
HIA Teh TAT 21 S, U ST AW R W, X Y Tt
2l

Ui W ¥ IR Ueh HI2A adich o U § 3R
AT Ueh HE T9Tq 5| FHefceiiaa # | &
| | Haterd T2 82

Q P O M N



Three generations of people live together.
There are 12 members in the family viz. M,
N,O,P,Q,R,S, T, U, V, W and X who
went out for a picnic. R and Q are kids of T
and S.@'vho is the father in law of W, is
the paternal uncle of R. T has a son and a
daughter. P is the husband of O. O is the
daughter of Q. M is the brother of N. R is
married to U. Father of Nis U _W/ho‘nas\only
one daughter. S is the father in law of U. W
is the wife of X.

[~

—
/N

Four of the five are alike in a certain way '+
and hence form a group. Which one the
following doesn’t belong to the group?

@ P O M \




|
‘Become Your Role Model’ 1s written as ‘S4 C6 N5 Z4°
‘Human Life World Change’ 1s written as ‘D6 15 X5 M4’
‘Insane Make Others Crazy’ is written as ‘D5 J6 N4 P6’

What 1s the code of the word ‘Revive’ in the given code language?
<1778 e AT H 'Revive' Ueq T he T 87

A. P5 B. S5 C. S6 D. R6 E. None of these

6D



h
‘Become Your Role Model’ is written as ‘S4 C6 N5 Z4°
‘Human Life World Change’ 1s written as ‘D6 15 X5 M4’
‘Insane Make Others Crazy’ 1s written as ‘D5 J6 N4 P6’

Which of the following words will have their code fF6’lin the given code

language?

(N e

<1 178 e TT H (TR § | foh¥ 3162 3T e 'F6' BITT?

A. Eleven B. Enough C.Empire Noth ‘Eleven’ and ‘Empire’
E. All of these e



|
Eight people P, Q, R, S, T, U, W and X live in an

eight story building, but not necessarily in the
same order. The lowermost floor is numbered 1
and the floor above 1t numbered as 2 and so on.
The topmost floor is numbered 8. W lives
immediately below P’s floor. P lives on an even-
numbered floor but not on the floor numbered
second or fourth. Only three floors are there
between P and Q. Only two people live between
R and T. U lives on a floor above S. There are
equal numbers of floors between the floors on
which T and Q live and between the floors on

which P and T live. X lives immediately below

S’s floor.

ABAREP, Q,R, S, T, U, W 3R X Ush 313
TSIt SHRA | &4 &, Wfeh Sl T foh gt
A 1 BT g et Jiste S g3 1 8 31
3ch U hl HISTAT shl G&AT 2 3T 3&t a8 T
| go 8 Fu /ST hl ST 8 Bl W, Pk dd
o 3k I W1 21 P Ueh UH HE&AT 1| HiST
T T & i fehet gy 3T <itefi HisTet X e &
2l P 3R Q & s T A AfSeT &I R 3R T
& i<l el & AT &&d =l U, S o ST Teh
ARSI W @ar 21 T 3R Q o vt s tga &

N EANA WP IR TEI B X, SFAAh

3ieh I war 2l
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Eight people P, Q, R, S, T, U, W and X live in an

eight story building, but not necessarily in the

same order. The lowermost floor 1s numbered 1

and the floor above 1t numbered as 2 and so on.

The topmost floor is numbered 8. W lives

immediately below P’s floor. P lives on an even-

numbered floor but not on the floor numbered

second or fourth. Only three floors are there

—‘%&NJMG\\\OO

X|n ||| &

between P and Q. Only two people live between

R and T. U lives on a floor above S. There are

equal numbers of floors between the floors on ( N P -_—__—@s Q

which T and Q live and between the ftfoorson

which P and T live. X lives immediately below T N /]\ @
Tem A

S’s floor.
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8 friends A, B, C, D, E, F, G and H were
born on different years 1980, 1981,
1975, 1987, 1985, 1997, 1991 and 2000
(not necessarily in same order). Note:
They all were born on 1st January and
consider their ages as on 1st January
2020). Three persons are born between
A and B. Two persons are born between
H and G. Difference between the age of
A and F 1s 10. C born just after G. A 1s
older than B. Sum of the ages of C and E
1s three more than the age of D. B was

born after A.

8T A, B, C, D, E, F, G 3R H &S H
JTAT-3TT 99 1980, 1981, 1975, 1987,
1985, 1997, 1991 31T 2000 H AT o7
(ST T&T Toh 36 3h0 )| Fic: 9 9T |

ST SRl UaT BT o 3T I9h! 37 1 SHR]
2020 = AT 15 €)| A 3R B o sl i+
=feh 9eT BId 21 H 3T G o o= 31 A fh
93T BId &1 A X F 31 3T o i<l T 3
1031 CHTSTH G & SR TG ATl A, B
Y TSIl C SN E I AT FI AT R D 6l
AT U i AT 2| B 1 SH A o o4
g o)
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8 friends A, B, C, D, E. F, G and H were
born on different years 1980, 1987,
197571987, 1985, 1997, 1991 and 2000
(not necessarily in same order). Note:
They all were born on Ist January and
consider their ages as on 1st January

2020). Three persons are born between

A and B. Two persons are born between

H and G. Difference between the age of
A and F 1s 10. C born just after G. A 1s

older than B. Sum of the ages of C and E

1s three more than the age of D. B was
born after A.

Y U /
jag o Yo /
o §| 217
1985 | 35

A
o,
H
F'
1987 | 3> 6
G
C
E




Six boxes labelled as P, Q, R, S, T, U were kept in the

form of a stack (vertical arrangement) but not

P,Q,R,S, T, U &Y I A fhU 7T BT
necessarily in the same order. Each of the boxes 1s e oh T (dv‘&oli‘él'{ SISEAT) T H i
painted in a different colour. The colours of the boxes o et SRt Tt foh $6ft shm | 2 Sieieh Siferd
were orange, yellow, purple, indigo, red and blue but ! Ueh 31T U1 H = foram 1T 21 ool ok
not necessarily in the same order. There are two :I'I'f"ﬁ, ‘ﬂﬁ, éﬂ-—ﬁ, -ﬂcfl, AT 3R A & AferA
boxes between S and T. S is immediately below the S 921 foh ST HAHF BN S T T h AT A
indigo box. There are two boxes between the red and  fgssl 8| S, et o sl o Sieh A=l B ATA TR
purple boxes. P 1s kept immediately below the orange  Jrft s} & i 21 fess 3 P & 91T fesa &
box. The colour of box Q is not red. T is not placed  f A3y CCIRIC IR RREE] Q T T T T =
above S. Only blue box 1s kept between Q and the TS ¥ U T2 T T Q aﬁ'{‘{%lﬁ
indigo box. The yellow box 1s kept tl?ird from the ST 3 S et T e TEr T ) W
bottom of the stack. The yellow box 1s kept below U. N N ——

et SiTere U o S 1@ 74 )

(-

Which of the following boxes is placed at the top of
the stack?
1.Q 2.U 3.S 4.T 5.P
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Six boxes labelled as P, Q, R, S, T, U were kept in the
form of a stack (vertical arrangement) but not
necessarily in the same order. Each of the boxes 1s
painted 1n a different colour. The colours of the boxes
were orange, yellow, purple, indigo, red and blue but
not necessarily in the same order. There are two
boxes between S and T. S is immediately below the
indigo box. There are two boxes between the red and
purple boxes. P is kept immediately below the orange
box. The colour of box Q 1s not red. T 1s not placed
above S. Only blue box 1s kept between Q and the
indigo box. The yellow box is kept third from the
bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of
the stack?
1.Q 2.U 3.S 4.T 5.P




(-

Seven persons A, B, C, D, E, F and G have different
heights and likes different colours such as Red, Blue,

Orange, Green, Pink, Yellow and Black. D is shorter

than only 3 person. A is taller than one who likes Orange

colour but shorter than the one who likes Black. E 1s
taller than one who likes Orange colour and does not
likes Black colour. F does not like Blue and Green
colour. B neither likes Red and Pink colour. The one
who likes Pink colour is taller than who likes Yellow
colour. The one who likes Red is not the tallest person.
G does not like Green colour. E is taller than only two
person. B is second tallest person does not like Green
colour. D does not like Orange colour. F does not the

tallest person. C is the shortest person. The one who

likes yellow colour is taller than who likes Black colour.

The one who likes Black colour smaller than F who is

taller than the one who likes Red colour.

|Td =ARE A, B, C, D, E, F 31X G il FeTS SAHT-3T1T 2
IR 3T AHT-HAAT TT 9HE & S AT, =T, 1, 24,
TTATelt, FAT SR AT D ket 3 fRE 8 BleT a8l A, T
T 9HE T I U AT & Ao ShlcAT T 98 i a1 A
DT 2l E 39 Th W ofFall & S8 At &7 geig © o fS|
HTAT TT U6E T2 21 F ! et SR g0 {1 wse T8l &1 B 7
T AT ST I[ATST 7 T 3Ll 8] TeATs T7 9
STAT STk, AT TT UEE i Tt SATh © el 2 ATl T
T hi ITAT A <h Taid oIFIT ATk Tl 8l G hl &0 TT
TS T 8| E shact ol SAehal § T 8] B 38U He el
itk & IS &0 41 96e 72 ¢l D ol A0 T7 96 a1 81 F
oY o1 ATk Tl 31 C Tl BT oAf<h =] I8 oAfeh fore
AT 17 e ®, I hTAT TT TEE ohid dTed A feh § Tl 2
g i<k S8 1T U1 96E &, 98 F € BIeT 7, ST At OT
T i ITd § T ”l




Seven persons A, B, C, D, E, F and G have different
heights and likes different colours such as Red, Blue,
Orange, Green, Pink, Yellow and Black. D is shorter

[~

than only 3 person. A is taller than one who likes Orange
colour but shorter than the one who likes Black. E is
taller than one who likes Orange colour and does not
likes Black colour. F does not like Blue and Green
colour. B neither likes Red and Pink colour. The one
who likes Pink colour is taller than who likes Yellow
colour. The one who likes Red is not the tallest person.
G does not like Green colour. E is taller than only two
person. B is second tallest person does not like Green
colour. D does not like Orange colour. F does not the
tallest person. C is the shortest person. The one who
likes yellow colour is taller than who likes Black colour.
The one who likes Black colour smaller than F who is

taller than the one who likes Red colour.



F
A certain number of persons are sitting in

the row. All of them are facing towards
south. Q sits sixth from the right of S. T
sits forth to left of Q. Only two persons sit
between QQ and P. Six persons sit between
W and V. R sits forth to the left of S. U
sits between S and T. V sits second to the
left of U. W is third from any of the end.

S 1s eight from the left end of the row.

Utk | THfSya g 0 safth oS 81 39 9t ot
T 30T hT AR Q, S o I € B3 WM
WIS T, QF I AT =l Q I P
S et &1 AE 93 &l W IR V &6 o=
IE ARG IS 8 R, S & o5 X d3aT 21 U,
S N T o sfte s 81 V, U o o3 & g
T W S37 31 W Terdt off &1 & it T
T 21 S Ufth % oITU SR H AT 2
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A certain number of persons are sitting in
the row. All of them are facing towards
south. Q sits sixth from the right of S. T
sits forth to left of Q. Only two persons sit
between QQ and P. Six persons sit between
W and V. R sits forth to the left of S. U
sits between S and T. V sits second to the
left of U. W 1is third from any of the end.
S 1s eight from the left end of the row.



